Level A - Form 1 - Mathematics Computation:
Algebraic Operations

Sample Question

A 0.03
3 X103 = B 0.003

C 300

D 3,000

E None of these
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o

10°x10% =

X+ 3x(x + y) =

64 =

J36 +/16 =
Solve for y.
y—-3=2

A o« I O 7 m O O w >

m OO w >

Algebraic Operations

10,000
1,000
600
5,000

None of these

x + 3x% + 3xy
4x% + y
S5x+y

3x3 + 3xy

None of these

8
32
16
4

None of these

10
52
32
14

None of these

y=1

y=26
y="1
y=25

None of these
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6.
3x+ 4y + 2x-y =
7. Solve for b.
10b-3=27
8.
3¥+23=
9.
E'TI? —r"‘: )
3-!"' N

m O O wmw > A o I O T

A o I O =

5x2 + 4
5x + 3y
5x + 4y
9x2

None of these

b =300
b=3
b=14
b=24

None of these

56
53
15
35

None of these

2m

| b

None of these
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10.

11.

12.

13.

14.

15.

2

256 /144 =

6x3+ 3x2-2x3=

J9+121=

2./64

Solve for r.

5r+ 3r=56

22 x 104 =
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A o I O T m O O w > A o I O T m O O w > A o I O T

m O O w >

56

28
V112
4

None of these

7x2
4x3 + 3x2
8x3 + 3x2
7x

None of these

65
14
J130
20

None of these

32
8

16
10

None of these

r=148
r=28
r=8
r=17

None of these

4,000
40,000
160
120

None of these

16.

8m-m-=

17. Solve for x.

=2
16
18.
10° + 102=
19.
52X 24=

20. Solve for z.

5z—-12=18

Level A, Form 1

A o I @

m O O w >

m O O w >

A o I O T

None of these

x =28
x=12
x=18
x =36

None of these

1,000

100
2
5

21
2

None of these

106
80

400
108

None of these

z=30
z=150
z=28
z=6

None of these



